mathrm a'N

13000 GeV pp Z+Jet
CU | T I T I T I I | I I I I T | 9
o) L —c
£250 — i 0 e e
= B Multiplicity A_O" (CMS jet substructure) 13
< [ 1=
© L m CMS ] 2
€ | --o-- Pythia6.428 345 =
5200 — 5 Pythia 6.428 346 1=
g | —4A— Pythia 6.428 370 h ;
oF T Pythia 6.428 default -8
. [ —a— Pythia 8.308 default 15
150 — —
= _ _
E — ]
g — _
B o
Q700 — — @
© - -
= T
= = His
£ 50 — —z
= | 15
o B s
L — D
E o g
= - -5
© - e
£ | | | | | | | | | | N g
— | ' ' ' ' ' ' ' ' ' H
2 £ -2
%) B Bl
= B ]
O B |
e 1 1
fe) i
© B |
o2
0.5 — —0.5
l L L L L l L L I L . l
0 50 100

multiplicity



	Contents
	Page 1


